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PROGRAMACAO DINAMICA

Infinite Stage Markov Programming

Exercicio

Formulacao do Problema:

“A cable repair truck has a power driven reel which when full carries 400 m
of cable. Repairs involve replacing a 100, 200 or 300 m length of old cable,
each length occurring with equal probability. Repairs are carried out by
taking new cable from the reel unless the length remaining on the reel is
too short. In this case the cable on the reel is removed and scrapped, a new
400 m length is put on the reel and the repair then carried out. Determine
the mean length of the cable scrapped per repair.”

Answer: 400/9 m.
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